

The Spectral Norms of Geometric Circulant Matrices with Generalized Tribonacci Sequence

Baijuan Shi

School of Mathematics, Northwest University, Xi'an, Shaanxi P. R. China

***Corresponding Author:** *Baijuan Shi*, School of Mathematics, Northwest University, Xi'an, Shaanxi P. R. China

Abstract: In this paper, I study a geometric circulant matrix involving the generalized Tribonacci sequences and Chebyshev polynomials. Then I compute lower and upper bounds for the spectral norms of the matrix.

Keywords: geometric circulant matrix; generalized Tribonacci sequence; Cheby- shev polynomial; spectral norms; Euclidean norms

1. INTRODUCTION

Circulant matrix have many special properties and have been one of the most important research areas in the field of the computation and pure mathematics. In particular, they have important position and application in solving coding theory, different types of partial and ordinary differential equations, numerical analysis and so on.

An $n \times n$ r-circulant matrix has the form:

$$C_r = \begin{pmatrix} c_0 & c_1 & c_1 & \cdots & c_{n-2} & c_{n-1} \\ rc_{n-1} & c_0 & c_1 & \cdots & c_{n-3} & c_{n-2} \\ rc_{n-2} & rc_{n-1} & c_0 & \cdots & c_{n-4} & c_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ rc_1 & rc_2 & rc_3 & \cdots & rc_{n-1} & c_0 \end{pmatrix}_{n \times n}$$

Obviously, C_r , the *r*-circulant matrix is determined by parameter *r* and its first row elements. When the parameter satisfies r = 1, we can get circulant matrix.

In rencent years, it's a brisk research topic that circulant matrices have been studied in many aspects. Particularly, manyscholars have learned comprehensively the norms of circulant matrices basing on the special properties. For example, Solak has computed the lower and upper bounds of spectral norms of circulant matrices involving the Fibonacci number and Lucas numbers in reference [1]. Later, Shen and Cen have has generalized the results of the reference [1] and obtained the bounds for

the spectral norms of r-circulant matrices involving Fibonacci and Lucas numbers^[2]. In 2014, coskun established norms, the eigenvalues and the determinant of circulant matrices with Cordonnier, Van Der laan numbers and Perrin by some properties of circulant matrix with third order linear recurrent sequence[3]. In reference [4], [5], they computed the lower and upper bounds for the spectral norms of Hankel matrices and Toeplitz matrices involving Pell number, Pell-Lucas numbers, respectively. In [6], they obtained the norms of semi circulant and circulant matrices with Horadam numbers. In [7], they studied eigenvalues, determinant and the spectral norms of circulant matrix involving the generalized k- Horadam numbers. In [8] authors have also studied the norms of many special matrices with generalized Tribonacci sequences and generalized Pell-Padovan. In 2016, Can and Naim have studied the bounds for the spectral norms of geometric circulant matrices involving the generalized Fibonacci number and Lucas numbers [9], and so on.

At this point, enlighted by above articles, in my present study, I obtained the lower and upper bounds of geometric circulant matrix involving the generalized Tribonacci sequences and Chebyshev polynomials.

2. PRELIMINARIES

The third order liner recurrence sequence has the form:

$$Q_0 = a, Q_1 = b, Q_2 = c, Q_n = pQ_{n-1} + qQ_{n-2} + rQ_{n-3},$$

where a,b,care positive integer.

Taking p = q = r = 1, then we can obtain the famous generalized Tribonacci sequence:

 $R_n = R_{n-1} + R_{n-2} + R_{n-3}$, with initial conditions

$$R_0 = a, R_1 = b, R_2 = c.$$

The well-known Tribonacci sequence is defined by the following equations:

$$T_0 = 0, T_1 = 1, T_2 = 1.T_n = T_{n-1} + T_{n-2} + T_{n-3}.$$

For the sequence Q_n , the characteristic equation $x^3 - px^2 - qx - r = 0$ has three distinct real roots, denoted by α, β, γ . Where

$$\begin{array}{l} \alpha+\beta+\gamma=p,\\ \alpha\beta\gamma=r,\\ \alpha\beta+\beta\gamma+\alpha\gamma=-q. \end{array}$$

The Binet's formula Q_n can be represented by

$$Q_n = \frac{\alpha^n}{(\alpha - \beta)(\alpha - \gamma)} + \frac{\beta^n}{(\beta - \alpha)(\beta - \gamma)} + \frac{\gamma^n}{(\gamma - \alpha)(\gamma - \beta)}.$$
 Hence, clearly, for R_n , $\alpha + \beta + \gamma = 1, \alpha\beta\gamma = 1$,
 $\alpha\beta + \beta\gamma + \alpha\gamma = -1.$
The binot's form is $R_n = \frac{\alpha^n + \beta^n}{(\gamma - \alpha)(\gamma - \beta)}$.

The office's form is
$$R_n = \frac{1}{X} + \frac{1}{Y} + \frac{1}{W},$$

 $X = (\alpha - \beta)(\alpha - \gamma), Y = (\beta - \alpha)(\beta - \gamma), W = (\gamma - \alpha)(\gamma - \beta)$

Definition1. The geometric circulant matrix C_{r^*} is defined by ^[9]:

$$C_{r^*} = \begin{pmatrix} c_0 & c_1 & c_1 & \cdots & c_{n-2} & c_{n-1} \\ rc_{n-1} & c_0 & c_1 & \cdots & c_{n-3} & c_{n-2} \\ r^2c_{n-2} & rc_{n-1} & c_0 & \cdots & c_{n-4} & c_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1}c_1 & r^{n-2}c_2 & r^{n-3}c_3 & \cdots & rc_{n-1} & c_0 \end{pmatrix}_{n \times n}$$

We denote it easily by $C_{r^*} = Circ_{r^*}(c_0, c_1, c_2, \cdots, c_{n-1})$. When the parameter r = 1, geometric circulant matrix turns into circulant matrix.

Definition2. Let us take any matrix $A = (a_{ij}) \in M_{m \times n}(C)$, the spectral norm and the Euclidean norm of matrix A are

$$||A||_{2} = \sqrt{\max_{1 \le i \le n} \lambda_{i}(A^{H}A)}, ||A||_{E} = \left(\sum_{i=1}^{m} \sum_{j=1}^{n} |a_{ij}|^{2}\right)^{\frac{1}{2}} \text{ respectively.}$$

Where $\lambda_i(A^HA)$ is the eigenvalue of A^HA and A^H is the conjugate transpose of matrix A .

The following inequalities hold between the Euclidean norm and spectral norm 15 :

$$\frac{1}{\sqrt{n}} \|A\|_E \le \|A\|_2 \le \|A\|_E,\tag{1}$$

International Journal of Scientific and Innovative Mathematical Research (IJSIMR) Page | 35

 $||A||_2 \leq ||A||_E \leq \sqrt{n} ||A||_2$

Definition3.Let $A = (a_{ij})$ and $B = (b_{ij})$ are $m \times n$ matrices, then the Hadamard product of A and Bis the $m \times n$ matrix of element wise products, namely $A \circ B = (a_{ij}b_{ij})$.

Then we have the following inequalities [14]:

 $||A \circ B||_2 \le r_1(A)C_1(B),$

Where

Lemma 1.^[8] For any $n \geq 1$.

 $\sum_{k=1}^{n} R_k^2 = \frac{4R_n R_{n+1} - 4R_0 R_1 - (R_{n+1} - R_{n-1})^2 + (R_{-2} + R_0)^2}{4}.$ Hence, $\sum_{k=0}^{n-1} R_k^2 = \frac{4R_{n-1}R_n - 4ab - (R_n - R_{n-2})^2 + (R_{-2} + a)^2 + 4a^2}{4}.$

Lemma2. For the Chebyshev polynomial $T_n(x)$, $U_n(x)$,

$$\begin{split} T_0(x) &= 1, T_1(x) = x, T_{n+1}(x) = 2xT_n(x) - T_{n-1}(x), \\ U_0(x) &= 1, U_1(x) = 2x, U_{n+1}(x) = 2xU_n(x) - U_{n-1}(x), \\ T_n(x) &= \frac{\left(x + \sqrt{x^2 - 1}\right)^n + \left(x - \sqrt{x^2 - 1}\right)^n}{2} = \frac{\alpha^n + \beta^n}{2}, \\ \text{and } U_n(x) &= \frac{\left(x + \sqrt{x^2 - 1}\right)^{n+1} - \left(x - \sqrt{x^2 - 1}\right)^{n+1}}{2\sqrt{x^2 - 1}} = \frac{\alpha^{n+1} + \beta^{n+1}}{\alpha - \beta}. \end{split}$$

In particular,

$$\sum_{k=0}^{n-1} T_k^2 = \frac{1}{4} U_{2(n-1)}(x) + \frac{n}{2} + \frac{1}{4}.$$

3. MAIN RESULTS

Theorem1. Let $R_{r^*} = Circ_{r^*}(R_0, R_1, R_2, \dots, R_{n-1})$ be an $n \times n$ geometric circulant matrix. If |r| > 1, then (i)

$$\begin{split} &\sqrt{\sum_{k=0}^{n-1} R_k^2} \le \|R_{r^*}\|_2 \le \sqrt{\frac{1-|r|^{2n}}{1-|r|^2} \sum_{k=0}^{n-1} R_k^2},\\ (\text{ii)} \quad &\text{If } \left|\mathcal{T}\right| < 1, \text{then} \\ |r| \sqrt{\frac{|r|^{2n+4}U_0 - |r|^{2n+2}K_0 + |r|^{2n}U_{-2} + |r|^4 U_{2n} + |r|^2 K_1 - U_{2n-2}}{|r|^6 + 3|r|^4 + (9 - \Delta_4)|r|^{2} - 1}} \\ &\leq \\ &\|R_{r^*}\|_2 \le \sqrt{n \sum_{k=0}^{n-1} R_k^2}.\\ &\text{Proof.} \end{split}$$

$$R_{r^*} = \begin{pmatrix} R_0 & R_1 & R_1 & \cdots & R_{n-2} & R_{n-1} \\ rR_{n-1} & R_0 & R_1 & \cdots & R_{n-3} & R_{n-2} \\ r^2R_{n-2} & rR_{n-1} & R_0 & \cdots & R_{n-4} & R_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1}R_1 & r^{n-2}R_2 & r^{n-3}R_3 & \cdots & rR_{n-1} & R_0 \end{pmatrix}_{n \times n} (\mathbf{i}) \quad \text{From} |\mathcal{T}| > 1 \text{and by using the}$$

definition of Euclidean norm, we have

$$\begin{split} \|R_{r^*}\|_E^2 &= \sum_{k=0}^{n-1} (n-k) R_k^2 + \sum_{k=1}^{n-1} k |r^{n-k}|^2 R_k^2 \\ &\ge \sum_{k=0}^{n-1} (n-k) R_k^2 + \sum_{k=1}^{n-1} k R_k^2 \\ &= n \sum_{k=0}^{n-1} R_k^2, \\ \text{that is, } \frac{1}{\sqrt{n}} \|R_{r^*}\|_E \ge \sqrt{\sum_{k=0}^{n-1} R_k^2}, \text{from (1), I have } \sqrt{\sum_{k=0}^{n-1} R_k^2} \le \|R_{r^*}\|_2. \end{split}$$

For another, let the matrices A and B be presented by

$$A = \begin{pmatrix} 1 & 1 & 1 & \cdots & 1 & 1 \\ r & 1 & 1 & \cdots & 1 & 1 \\ r^{2} & r & 1 & \cdots & 1 & 1 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1} & r^{n-2} & r^{n-3} & \cdots & r & 1 \end{pmatrix}_{n \times n}$$

$$B = \begin{pmatrix} R_{0} & R_{1} & R_{1} & \cdots & R_{n-2} & R_{n-1} \\ R_{n-1} & R_{0} & R_{1} & \cdots & R_{n-3} & R_{n-2} \\ R_{n-2} & R_{n-1} & R_{0} & \cdots & R_{n-4} & R_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ R_{1} & R_{2} & R_{3} & \cdots & R_{n-1} & R_{0} \end{pmatrix}_{n \times n}$$
then $R_{r^{*}} = A \circ B$. So,
 $\|R_{r^{*}}\|_{2} = \|A \circ B\|_{2} \leq r_{1}(A)C_{1}(B),$
 $r_{1}(A) = \max_{1 \leq i \leq n} \sqrt{\sum_{j=1}^{n} |a_{ij}|^{2}} = \sqrt{\sum_{j=1}^{n} |a_{nj}|^{2}}$
 $= \sqrt{1 + |r|^{2} + \cdots + |r^{n-1}|^{2}} = \sqrt{\frac{1 - |r|^{2n}}{1 - |r|^{2}}},$
 $c_{1}(B) = \max_{1 \leq j \leq n} \sqrt{\sum_{i=1}^{n} |b_{ij}|^{2}} = \sqrt{\sum_{j=1}^{n} |b_{in}|^{2}} = \sqrt{\sum_{k=0}^{n-1} R_{k}^{2}}$
So we have

$$||R_{r^*}||_2 \le r_1(A)c_1(B) = \sqrt{\frac{1-|r|^{2n}}{1-|r|^2}}\sum_{k=0}^{n-1} R_k^2.$$

Thus, we can obtain the inequality:

$$\begin{split} \sqrt{\sum_{k=0}^{n-1} R_k^2} &\leq \|R_{r^*}\|_2 \leq \sqrt{\frac{1-|r|^{2n}}{1-|r|^2} \sum_{k=0}^{n-1} R_k^2} \text{(ii)From } |r| < 1,\\ \|R_{r^*}\|_E^2 &= \sum_{k=0}^{n-1} \left(n-k\right) R_k^2 + \sum_{k=1}^{n-1} k |r^{n-k}|^2 R_k^2\\ &\geq \sum_{k=0}^{n-1} \left(n-k\right) |r^{n-k}|^2 R_k^2 + \sum_{k=1}^{n-1} k |r^{n-k}|^2 R_k^2\\ &= n|r|^{2n} \sum_{k=0}^{n-1} \left(\frac{R_k}{|r|^k}\right)^2\\ &= n|r|^{2n} \sum_{k=0}^{n-1} \left(\frac{\frac{\alpha^k}{X} + \frac{\beta^k}{Y} + \frac{\gamma^k}{W}}{|r|^k}\right)^2, \end{split}$$

By taking $U_n = \frac{\alpha^n}{X^2} + \frac{\beta^n}{X^2} + \frac{\gamma^n}{W^2}, \ \Delta_n = \alpha^n + \beta^n + \gamma^n$ and the relation of $\Delta_2 = \alpha^2 + \beta^2 + \gamma^2 = (\alpha + \beta + \gamma)^2 - 2(\alpha\beta + \beta\gamma + \alpha\gamma) = 3,$ we have $n|r|^{2n}\sum^{n-1} \left(\frac{\frac{\alpha^k}{X} + \frac{\beta^k}{Y} + \frac{\gamma^k}{W}}{|r|^k}\right)^2$ $= n|r|^2 \frac{|r|^{2n+4}U_0 - |r|^{2n+2}K_0 + |r|^{2n}U_{-2} + |r|^4U_{2n} + |r|^2K_1 - U_{2n-2}}{|r|^6 + 3|r|^4 + (9 - \Delta_4)|r|^2 - 1}$ where $K_0 = 3U_0 - U_2$, $K_1 = 3U_{2n} - U_{2n+2}$. For another, the matrices A and B as mentioned above: For another, the matrices *A* and *D* as men $A = \begin{pmatrix} 1 & 1 & 1 & \cdots & 1 & 1 \\ r & 1 & 1 & \cdots & 1 & 1 \\ r^2 & r & 1 & \cdots & 1 & 1 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1} & r^{n-2} & r^{n-3} & \cdots & r & 1 \end{pmatrix}_{\substack{n \times n \\ n < n}}$ $B = \begin{pmatrix} R_0 & R_1 & R_1 & \cdots & R_{n-2} & R_{n-1} \\ R_{n-1} & R_0 & R_1 & \cdots & R_{n-3} & R_{n-2} \\ R_{n-2} & R_{n-1} & R_0 & \cdots & R_{n-4} & R_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ R_1 & R_2 & R_3 & \cdots & R_{n-1} & R_0 \end{pmatrix}_{n \times n}$ In this case $R_{+} = A \circ R_{-}$ In this case, $R_{r^*} = A \circ B$. So, $\|R_{r^*}\|_2 = \|A \circ B\|_2 \le r_1(A)C_1(B),$ $r_1(A) = \max_{1 \le i \le n} \sqrt{\sum_{j=1}^n |a_{ij}|^2} = \sqrt{n},$

$$c_1(B) = \max_{1 \le j \le n} \sqrt{\sum_{i=1}^n |b_{ij}|^2} = \sqrt{\sum_{j=1}^n |b_{in}|^2} = \sqrt{\sum_{k=0}^{n-1} R_k^2}.$$

So,

$$||R_{r^*}||_2 \le \sqrt{n \sum_{k=0}^{n-1} R_k^2}$$

Γ

Therefore, we have

$$\begin{aligned} |r| \sqrt{\frac{|r|^{2n+4}U_0 - |r|^{2n+2}K_0 + |r|^{2n}U_{-2} + |r|^4 U_{2n} + |r|^2 K_1 - U_{2n-2}}{|r|^6 + 3|r|^4 + (9 - \Delta_4)|r|^2 - 1}} \\ \|R_{r^*}\|_2 &\leq \sqrt{n \sum_{k=0}^{n-1} R_k^2}. \end{aligned}$$

Theorem2. Let $T_{r^*} = Circ_{r^*}(T_0, T_1, T_2, \dots, T_{n-1})$ be an $n \times n$ geometric circulant matrix. If |r| > 1, then (i)

 \leq

$$\begin{split} \sqrt{\sum_{k=0}^{n-1} T_k^2} &\leq \|R_{r^*}\|_2 \leq \sqrt{\frac{1-|r|^{2n}}{1-|r|^2} \sum_{k=0}^{n-1} T_k^2}, \\ \text{(ii)} \quad \text{If } |r| < 1, \text{then} \\ \frac{|r|}{2} \sqrt{\frac{2|r|^{2n+2} - 2|r|^{2n} T_2 - 2|r|^2 T_{2n} + 2T_{2n-2}}{|r|^4 - 2|r|^2 T_{2} + 1}} + \frac{2|r|^{2n} - 2}{|r|^2 - 1} \leq \|R_{r^*}\|_2 \leq \\ \sqrt{n \sum_{k=0}^{n-1} T_k^2}. \end{split}$$

International Journal of Scientific and Innovative Mathematical Research (IJSIMR)

Proof.

$$T_{r^*} = \begin{pmatrix} T_0 & T_1 & T_1 & \cdots & T_{n-2} & T_{n-1} \\ rT_{n-1} & T_0 & T_1 & \cdots & T_{n-3} & T_{n-2} \\ r^2T_{n-2} & rT_{n-1} & T_0 & \cdots & T_{n-4} & T_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1}T_1 & r^{n-2}T_2 & r^{n-3}T_3 & \cdots & rT_{n-1} & T_0 \end{pmatrix}_{n \times n}$$
(i) For $|r| > 1$, from the definition of \dots

Euclidean norm, we have

$$\begin{split} \|T_{r^*}\|_E^2 &= \sum_{k=0}^{n-1} \left(n-k\right) T_k^2 + \sum_{k=1}^{n-1} k |r^{n-k}|^2 T_k^2 \\ &\ge \sum_{k=0}^{n-1} \left(n-k\right) R_k^2 + \sum_{k=1}^{n-1} k R_k^2 \\ &= n \sum_{k=0}^{n-1} T_k^2, \end{split}$$

In this case, then by using (1), $\int_{n-1}^{n-1} then by using (1)$

$$\frac{1}{\sqrt{n}} \|T_{r^*}\|_E \ge \sqrt{\sum_{k=0}^{n-1} T_k^2},$$

we have $\sqrt{\sum_{k=0}^{n-1} T_k^2} \leq ||T_{r^*}||_2$. For another, let the matrices C and D be defined by the form:

$$C = \begin{pmatrix} 1 & 1 & 1 & \cdots & 1 & 1 \\ r & 1 & 1 & \cdots & 1 & 1 \\ r^2 & r & 1 & \cdots & 1 & 1 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1} & r^{n-2} & r^{n-3} & \cdots & r & 1 \end{pmatrix}_{n \times n}$$
$$D = \begin{pmatrix} T_0 & T_1 & T_1 & \cdots & T_{n-2} & T_{n-1} \\ T_{n-1} & T_0 & T_1 & \cdots & T_{n-3} & T_{n-2} \\ T_{n-2} & T_{n-1} & T_0 & \cdots & T_{n-4} & T_{n-3} \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ T_1 & T_2 & T_3 & \cdots & T_{n-1} & T_0 \end{pmatrix}_{n \times n}$$

then $T_{r^*} = C \circ D$. So, $||T_*||_2 = ||C \circ D||_2 \leq r_1(C)C_1(D)$

$$\begin{split} \|T_{r^*}\|_2 &= \|C \circ D\|_2 \leq r_1(C)C_1(D), \\ r_1(C) &= \max_{1 \leq i \leq n} \sqrt{\sum_{j=1}^n |c_{ij}|^2} = \sqrt{\sum_{j=1}^n |c_{nj}|^2} \\ &= \sqrt{1 + |r|^2 + \dots + |r^{n-1}|^2} = \sqrt{\frac{1 - |r|^{2n}}{1 - |r|^2}}, \\ r_1(D) &= \max_{1 \leq j \leq n} \sqrt{\sum_{i=1}^n |d_{ij}|^2} = \sqrt{\sum_{j=1}^n |d_{in}|^2} = \sqrt{\sum_{k=0}^{n-1} T_k^2} \\ \\ \text{So we have} \\ \|T_{r^*}\|_2 \leq r_1(C)c_1(D) = \sqrt{\frac{1 - |r|^{2n}}{1 - |r|^2}} \sum_{k=0}^{n-1} T_k^2. \end{split}$$

Thus, we can obtain

$$\sqrt{\sum_{k=0}^{n-1} T_k^2} \le \|T_{r^*}\|_2 \le \sqrt{\frac{1-|r|^{2n}}{1-|r|^2}} \sum_{k=0}^{n-1} T_k^2.$$

(iii) From
$$|r| < 1$$
,

$$\begin{split} \|T_{r^{*}}\|_{E}^{2} &= \sum_{k=0}^{n-1} (n-k)T_{k}^{2} + \sum_{k=1}^{n-1} k|r^{n-k}|^{2}T_{k}^{2} \\ &\geq \sum_{k=0}^{n-1} (n-k)|r^{n-k}|^{2}T_{k}^{2} + \sum_{k=1}^{n-1} k|r^{n-k}|^{2}T_{k}^{2} \\ &= n|r|^{2n} \sum_{k=0}^{n-1} \left(\frac{T_{k}}{|r|^{k}}\right)^{2} \\ &= \frac{n|r|^{2n}}{4} \left(\sum_{k=0}^{n-1} \left(\frac{\alpha^{2}}{|r|^{2}}\right)^{k} + \sum_{k=0}^{n-1} \left(\frac{\beta^{2}}{|r|^{2}}\right)^{k} + 2\sum_{k=0}^{n-1} \left(\frac{\alpha\beta}{|r|^{2}}\right)^{k}\right) \\ &= \frac{n|r|^{2}}{4} \left(\frac{2|r|^{2n+2} - 2|r|^{2}T_{2} - 2|r|^{2}T_{2n} + 2T_{2n-2}}{|r|^{4} - 2|r|^{2}T_{2}} + \frac{2|r|^{2n} - 2}{|r|^{2} - 1}\right). \end{split}$$
 Hence,
$$\frac{|r|}{2} \sqrt{\frac{2|r|^{2n+2} - 2|r|^{2n}T_{2} - 2|r|^{2}T_{2} - 2|r|^{2}T_{2n} + 2T_{2n-2}}{|r|^{4} - 2|r|^{2}T_{2}} + 1}} + \frac{2|r|^{2n} - 2}{|r|^{2} - 1} \leq ||R_{r^{*}}||_{2}. For another, \end{split}$$

let the matrices C and D be defined as the same as mentioned above:

$$C = \begin{pmatrix} 1 & 1 & 1 & \cdots & 1 & 1 \\ r & 1 & 1 & \cdots & 1 & 1 \\ r^2 & r & 1 & \cdots & 1 & 1 \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ r^{n-1} & r^{n-2} & r^{n-3} & \cdots & r & 1 \end{pmatrix}_{n \times n}$$

$$r_1(C) = \max_{1 \le i \le n} \sqrt{\sum_{j=1}^n |c_{ij}|^2} = \sqrt{\sum_{j=1}^n |c_{nj}|^2}$$

$$= \sqrt{n}, \qquad c_1(D) = \max_{1 \le j \le n} \sqrt{\sum_{i=1}^n |d_{ij}|^2} = \sqrt{\sum_{k=0}^{n-1} T_k^2}$$
Hence, we have
$$||R_{r^*}||_2 \le \sqrt{n \sum_{k=0}^{n-1} T_k^2}.$$

4. CONCLUSION

In this paper, we approximated lower and upper bounds of the spectral norms of geometric circulant matrices with the generalized Tribonacci sequence and the Chebyshev polynomial.

In particular cases:

- Taking a = 0, b = c = 1, then we get the inequality of the spectral norms with the classical Tribonacci number.
- Taking r = 1, we can get the same conclusion as the circulant matrix.

AUTHOR' CONTRIBUTIONS

I contributed to each part of this work seriously and read and approved the final version of the manuscript.

ACKNOWLEDGEMENTS

The author is grateful to anonymous referees and the associate editor for their careful reading, helpful comments, and constructive suggestions, which improved the presentation of results.

REFERENCES

- [1] Solak, S: On the norms of circulant matrices with the Fibonacci and Lucas numbers[J]. Appl. Math. Comput. 2005,160: 125-132.
- [2] Shen, SQ, Cen, JM: On the bounds for the norms of γ —circulant matrices with Fibonacci and Lucas numbers[J]. Appl. Math. Comput.2010:216: 2891-2897.

- [3] Coskun, AT: On the some properties of circulant matrix with third order liner recurrent sequence. 2014,(arXive:1406.5349v1).
- [4] Akbulak, M, Bozkurt, D: On the norms of Toeplitz matrices involving Fibonacci and Lucas numbers[J]. Hacettepe journal of Mathematics and Statistics.
- [5] 2008,37(2):89-95.
- [6] Halici, S: On some inequality and Hankel matrices involving Pell, Pell Lucas numbers[J]. Math.reports. 2013,15(65):1-10.
- [7] Kocer, EG, Mansour, T, Tuglu, N:Norms of circulant and semicirculant matrices with Horadam's numbers[J]. Ars Comb. 2007,85:353-359.
- [8] Yazlik, Y, Taskara, N: Spectral norm, eignvalues and determinant of circulant matrix involving the generalized 4k —Horadom numbers[J]. Ars Combinatoria.2012, 204:505-512.
- [9] Raza, Z, Riza, M, Ali, MA: Some inequalities on the norms of special matrices with generalized Tribonacci and generalized Pell-Padovan sequences. 2015,(arXive: 1407.1369v2).
- [10] Can, K, Naim, T: On the bounds for the spectral norms of geometric circulant matrices[J]. J. Inequal. Appl. 2016,312(3):2-9.
- [11] Tuglu, N, Kizilates, C: On the norms of circulant and γ —circulant matrices with the hyperharmonic Fibonacci numbers[J]. J. Inequal. Appl.2015,253:11-18.
- [12] Yazlik, Y, Taskara, N: On the norms of an γ —circulant matrix with the generalized k —Horadam numbers[J]. J. Inequal. Appl.2013,394(1):1-8.
- [13] Tuglu, N, Kizilates, C, Kesim, S: On the harmonic and hyperharmonic Fibonacci numbers[J]. Adv. Differ. Equ. 2015, 297:1-12.
- [14] Bahsi, M: On the norms of circulant matrices with the generalized Fibonacci and Lucas numbers[J]. TWMS J.Pure Appl.Math.2015,6(1):84-92.
- [15] Horn, RA, Johnson, CR: Topics in Matrix Analysis[M]. Cambridge University Press, Cambridge(1991).
- [16] Zielke, G: Some remarks on matrix norms, condition numbers and error estimates for linear equations[J]. Linear Algebra Appl. 1998,110, 29-41.

Citation: Shi, B. (2018). The spectral norms of geometric circulant matrices with generalized Tribonacci sequence. International Journal of Scientific and Innovative Mathematical Research (IJSIMR), 6(6), pp34-44. DOI: http://dx.doi.org/10.20431/2347-3142.0606005

Copyright: © 2018 Authors This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.